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1| — e 100LAF 0 0 0 89 0 30

2 | K E RS hZeny |(-) () () (=)

3 [FRIV LK OZEDLEY) 0.003 mg/LLL F]<0.0003 [<0.0003 [<0.0003 [<0.0003 [<0.0003 [<0.0003

4 |KEE K OZFDLEW 0.0005 mg/LLL T [<0.00005[<0.00005[<0.00005|<0.00005|<0.00005|<0.00005

5 [ BV B OEDILEY 0.01 mg/LLLF|<0.001 [<0.001 [<0.001 [<0.001 [<0.001 [<0.001

6 |88 R OF DAY 0.01 mg/LLLF|<0.001 [<0.001 [<0.001 [<0.001 [<0.001 [<0.001

7 e R OFDOLEY 0.01 mg/LLLF[0.002 [0.001 [0.002 ]0.008 ]0.007 ]0.007

8 [N 0.02 mg/LLLF[<0.005 [<0.002 [<0.005 [<0.005 [<0.002 [<0.005

9 [HANFEREZE R 0.04 mg/LLLF[<0.004 [<0.004 [<0.004 |<0.004 [<0.004 [<0.004

10[> 7oA ROk 7 0.01 mg/LLLF|<0.001 [<0.001 [<0.001 [<0.001 [<0.001 [<0.001

11| AEFRAE 22 38 K VAR AN R RE %2 5 10 mg/LLL F[0.2 0.1 0.2 <0.1 <0.1 <0.1

12[7vE R PEDOILEY 0.8 mg/LLLT[0.22 0.13 0.18 0.43 0.39 0.41

13[FUE L NEDOILEY 1.0 mg/LEATF[<0.1 <0.1 <0.1 <0.1 <0.1 <0.1

14| UL IR 0.002 mg/LLL F[<0.0002 [<0.0002 [<0.0002 [<0.0002 [<0.0002 [<0.0002

15|1, 4—FF % 0.05 mg/LLL F|<0.005 [<0.005 [<0.005 [<0.005 [<0.005 [<0.005

1671 2-wrmm=rir oo a1 2 vymmmFLy 0.04 mg/LLL F[<0.004 [<0.004 [<0.004 [0.005 [<0.004 [0.004

7[> 7maaxz 0.02 mg/LLL F|<0.001 [<0.001 [<0.001 [<0.001 [<0.001 [<0.001

18|57 F1L 0.01 mg/LLLF[<0.001 [<0.001 [<0.001 [<0.001 [<0.001 [<0.001

19N 7o FL 0.01 mg/LLLF[<0.001 [<0.001 [<0.001 [<0.001 [<0.001 [<0.001

20| R 0.01 mg/LLLF[<0.001 [<0.001 [<0.001 [<0.001 [<0.001 [<0.001

21| M B TR 0.6 mg/LLLTF[0.11 <0.06  [0.07

227 o R 0.02 mg/LLLTF[<0.002 [<0.002 [<0.002

237 aaAL A 0.06 mg/LLL F|0.012 [0.004  0.008

247 v 0.03 mg/LLLF[0.004  [<0.003 ]0.003

25| 7RI AL 0.1 mg/LLLF[0.002  [0.001  [0.002

26| R &R 0.01 mg/LLLTF([<0.001 [<0.001 [<0.001

278N ~m R H 0.1 mg/LLLF[0.019 [0.008 [0.013

28| M) 7o R 0.03 mg/LLLF[0.010  [0.004 ]0.006

29| 7 uEY IO AL 0.03 mg/LLL F0.005 [0.002  0.003

307 mEAIL L 0.09 mg/LLL F|<0.001 [<0.001 [<0.001

31|V LT ILVFER 0.08 mg/LLLTF[<0.008 [<0.008 [<0.008

32| HEn X N FDILE W 1.0 mg/LELTF[<0.1 <0.1 <0.1 <0.1 <0.1 <0.1

33| T NI=0 LK ZEDEY) 0.2 mg/LLLTF[0.02 <0.02  10.02 <0.02  [<0.02  [<0.02

34|#: R DL EY 0.3 mg/LLLTF[0.02 <0.01  ]0.01 0.06 0.04 0.05

35|80 K NEDLEW) 1.0 mg/LLATF|<0.1 <0.1 <0.1 <0.1 <0.1 <0.1

36| N AR NZEDILE W) 200 mg/LLL |20 16 18 58 49 53

37|~ K OZEDLEY) 0.05 mg/LLL F]0.007  [0.002 10.004 [0.068 0.050 [0.058

38| A4 200 mg/LELF[15 11 13 33 31 32

39| DALY I =T R N () 300 mg/LLL |21 17 20 26 22 24

40| 78 FE TR EE W) 500 mg/LLLF[75 61 69 180 170 177

41|RaA A - m s Al 0.2 mg/LELF[<0.02  [<0.02  [<0.02 [<0.02 [<0.02  [<0.02

42| A A 0.00001 mg/LLLT(0.000001 [<0.000001 {0.000001 [<0.000001 [<0.000001 [<0.000001

43 2*%7‘/1//])7/?/1/?\7\1‘“—/1/ 0.00001 mg/LLLT£0.000001 [<0.000001 {<0.000001 [<0.000001 [<0.000001 [<0.000001

44| FEA A - mm s A 0.02 mg/LLL F|<0.002 [<0.002 [<0.002 [<0.002 [<0.002 [<0.002

45|7 = ) —VEH 0.005 mg/LLL F[<0.0005 [<0.0005 [<0.0005 [<0.0005 [<0.0005 [<0.0005

46| M (AR SE(TOC) D ) 3.0 mg/LLL F|0.6 0.3 0.5 <0.3 <0.3 <0.3

47| pHAE 5.8L1 E8.6LLF [7.8 7.3 7.6 7.9 7.7 7.8

48|k BTNl [BERU | BE L - -

49| R BTNl (B | BE L FERU | RERU[FEERL

50| 5 ELLF 0.6 <0.5 0.5 <0.5 <0.5 <0.5

51| E 2 FELLF [<0.1 <0.1 <0.1 <0.1 <0.1 <0.1
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—AgE 1 100 AT 0 0 0] O] 36 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0
RisE 2 Fig ©) ) G| 0] 36 ©) © ©) © ©) © ©) © ©) © ©) ) ©) ) ©) ) ©) ) ©) ) ©) ) ©) ) ©) ) ©) ) ©) ) ©) ) ©) ) ©) )
HESVLRUVZEDLLEY 3 0.003 mg/LEATF <0.0003 <0.0003 <0.0003] 0] 3 = = = - | <0.0003 = = = = = = = = = - ~ [ <0.0003 - - - - - - - - - - ~ [ <0.0003 - - - - - - -
KEBRUZDILEN 4 0.0005 mg/LLLF <0. 00005 <0.00005 <0.00005| 0O 3 = = = - | <0.00005 = = = = = = = = - - ~ | <o. 00005 - - - - - - - - - - ~ | <0. 00005 - - - - - - -
ELURUEDILEY 5 0.01 mg/LELF <0.001 <0.001 <0.001 0 3 - - - - <0.001 - - - - - - - - - - -[<0.001 - - - - - - - - - - -[<0.001 - - - - - - -
BRUZOIEEN 6 0.01 mg/LLAF <0.001 <0.001 <0.001 0 3 - - - -] <0.001 - - - - - - - - - - -[<0.001 - - - - - - - - - - -[<0.001 - - - - - - -
ERRUZDEEN 7 0.01 mg/LIAF * 0.002 0.001 | 1 0.002| 36| 36| 0.002| 0.002| 0.002| 0.002| 0.002| 0.002| 0.002| 0.002| 0.002)| 0.002| 0.002| 0.002 0.002| 0.002| 0.002| 0.002| 0.002| 0.002| 0.002| 0.002| 0.002| 0.002| 0.002| 0.002) 0.001| 0.002| 0.002| 0.002| 0.002| 0.002| 0.002| 0.002| 0.002| 0.002| 0.002| 0.002
Aifiv O L&Y 8 0.02 mg/LELF 0.002 <0.002 0.002 1 8 - - - -| <0. 005 - - - - - - - - - - - [<0.002 - -1 <0.002 - - [<0.002 - - €0.002 - - | €0.002 - - €0.002 - - <0. 002 -
ERHEREER 9 0.04 mg/LLLF <0. 004 <0.004 <0.004) 0| 3 = = = -[<0.004 = = = = = = = = = = -|<0.004 = = - - - - - - - - ~ [ <0. 004 - - - - - - -
ST AEMAA U RUELS T 10 0.01 mg/LELF <0.001 <0.001 <0.001 0] 12 -|<0.001 - -] <0.001 - -|<0.001 - -] <0.001 - -|<0.001 - - [<0.001 - -|<0.001 - - [<0.001 - -|<0.001 - - [<0.001 - -|<0.001 - -|<0.001 -
HHEERRUEMBEER 11 10 mg/LUTF 0.2 0.1 0.2 3] 3 - - - - 0.1 - - - - - - - - - - - 0.2 = = = = = = = = = = = 0.2 = = = = = = =
T IRRUZDIEEN 12 0.8 mg/LELF *2 0.22) #1 0.13 ]2 0.18) 36| 36| 0.22| 0.18] 0.21| 0.20( 0.19] 0.20| 0.20| 0.19] 0.16] 0.17) 0.13| 0.17) 0.20| 0.17| 0.16| 0.16] 0.18] 0.19] 0.17| 0.15| 0.18| 0.18| 0.18| 0.18| 0.17| 0.18| 0.17) 0.18| 0.17| 0.16| 0.17| 0.18] 0.15] 0.19] 0.19| 0.18
RIRRUZDEEN 13 1.0 mg/LUTF <0.1 <0.1 <0.1 0] 3 - - - -] <o0.1 - - - - - - - -] <o0.1 = = = = = = = = = -] <0.1 = = = = =
EkE 14 0.002 mg/LEATF <0.0002 <0. 0002 <0.0002f 0] 3 = = = - | <0.0002 = = = = = = = = - - ~ [ <0.0002 - - - - - - - - - - ~ [ <0. 0002 - - - - - - -
1L4-OFFH> 15 0.05 mg/LELF <0. 005 <0.005 <0.005| 0| 3 = = = - | <0.005 = = = = = = = = = = -|<0.005 - - - - - - - - - - ~ [ <0. 005 - - - - - - -
, mjz—(?—EEEZ;;%g 16 0.04 mg/LBLTF <0.004 <0.004 <.004[ of 3 - - - - <0.004 = = = = = = = = = = ~[<0.004 = = = = = = = = = = ~[<0.004 = = = = = = =
S|roonisy 17 0.02 mg/LLLF <0.001 <0. 001 <0.001 0 3 - - - - <0.001 - - - - - - - - - - -[<0.001 - - - - - - - - - - -[<0.001 - - - - - - -
ThSY00IFLY 18 0.01 mg/LELF <0.001 <0. 001 <0.001 0 3 - - - - <0.001 - - - - - - - - - - -[<0.001 - - - - - - - - - - -[<0.001 - - - - - - -
tyyBoBIFLY 19 0.01 mg/LELF <0.001 <0. 001 <0.001 0 3 - - - - <0.001 - - - - - - - - - - -[<0.001 - - - - - - - - - - -[<0.001 - - - - - - -
vty 20 0.01 mg/LELF <0.001 <0. 001 <0.001 0 3 - - - - <0.001 - - - - - - - - - - -[<0.001 - - - - - - - - - - -[<0.001 - - - - - - -
BRE 21 0.6 mg/LELF * 0.11 <0.06 | *: 0.07) 6| 12 -l on - -| <0.06 - -] 0.07 - -| <0.06 - -| 0.09 - -| <0.06 - - | <0.06 = -| 0.08 = -| <0.06 = —| <0.06 = -| 0.08 = -] 0.07 =
4 0 OFFEE 22 0.02 mg/LLLF <0.002 <0.002 <0.002 0] 12 -1 <0.002 - -] <0.002 - -|<0.002 - -] <0.002 - -|<0.002 - - [<0.002 - -|<0.002 - - [<0.002 - -|<0.002 - - [<0.002 - -|<0.002 - - [<0.002 -
AL VPN 23 0.06 mg/LUTF B 0.012 0.004 | 0.008| 12| 12 -1 0.004 = -| 0.009 = -1 0.012 = -| 0.009 = -1 0.005 = -] 0.012 = -l o0.01 = -| 0.008 - -] 0.005 - -| 0.008 - -] 0.011 - -| 0.008 -
Y O OEFER 24 0.03 mg/LELF # 0.004 <0.003 | *: 0.003 4] 12 -1 0.003 - -] <0.003 - -1 0.003 - -] <0.003 - -1 0.003 - - [<0.003 - -|<0.003 - - [<0.003 - -| 0.004 - - [<0.003 - -|<0.003 - - [<0.003 -
#|oJOoEs0AAEY 25 0.1 mg/LELF 0.002 0.001 0.002| 12| 12 -| 0.001 - -| 0.002 - -1 0.002 - -| 0.001 - -| 0.001 - -| 0.002 - -1 0.002 - -] 0.001 = -] 0.001 = -| 0.002 = -1 0.002 = -| 0.002 =
SR 26 0.01 mg/LELF <0.001 <0. 001 <0.001 0] 12 -|<0.001 - -] <0.001 - -|<0.001 - -] <0.001 - -|<0.001 - - [<0. 001 - -|<0.001 - - [<0. 001 - -|<0.001 - - [<0.001 - -|<0.001 - - [<0.001 -
wrUNOXEY 21 0.1 mg/LELF * 0.019 0.008 | *: 0.013] 12| 12 -1 0.008 - -| 0.016 - -1 0.017 - - 0.013 - -1 0.008 - -] 0.019 - -1 0.015 - -] 0.012 = -1 0.008 = -] 0.013 = -1 0.017 = -| 0.015 =
~ Y 0 OEEE 28 0.03 mg/LLLF *2 0.010( = 0.004 | 0.006f 12| 12 -1 0.004 - -| 0.006 - -] 0.01 - -| 0.006 - -| 0.004 - -| 0.007 - -1 0.005 - -] 0.007 = -| 0.005 = -| 0.005 = -1 0.007 = -| 0.006 =
JOoEvs/nOoizy 29 0.03 mg/LUTF * 0.005 0.002 | : 0.003| 12| 12 -1 0.003 - -| 0.005 - -1 0.003 - -| 0.003 - -1 0.002 - -| 0.005 - -1 0.003 - -| 0.003 = -| 0.002 = -| 0.003 = -| 0.004 = -| 0.005 =
JOERILL 30 0.09 mg/LELF <0.001 <0. 001 <0.001 0] 12 -|<0.001 - -] <0.001 - -|<0.001 - -] <0.001 - -|<0.001 - - [<0. 001 - -|<0.001 - - [<0. 001 - -|<0.001 - - [<0.001 - -|<0.001 - - [<0.001 -
HRLLTLTEFR 31 0.08 mg/LLLF <0.008 <0.008 <0.008 0] 12 -1 <0. 008 - -] <0. 008 - -1 <0. 008 - -] <0. 008 - -| <0. 008 - - [<0.008 - - | <0. 008 - - [<0.008 - -| <0. 008 - - [<0.008 - -| <0. 008 - - [<0.008 -
BRRUVEZDILED 32 1.0 mg/LLLTF <0.1 <0.1 <0.1 0 3 - - - -] <0.1 - - - - - - - - - - - <0.1 - - - - - - - - - - - <0.1 - - - - - -
5 FLSZHDLRUEDIEEY 33 0.2 mg/LLF 0.02 <0.02 0.02 1 3 - - - -] <0.02 - - - - - - - - - - - 0.02 - - - - - - - - - - - <0.02 - - - - - - -
T BERUZOEEY 34 0.3 mg/LELF 0.02 <0.01 0.01| 14| 36| 0.01| 0.01| 0.02| <0.01| 0.01] <0.01| <0.01] <0.01| <0.01] <0.01| 0.01] <0.01f 0.01| 0.01| 0.01| 0.01| 0.01| 0.01| <0.01| <0.01| <0.01| <0.01| <0.01| 0.01] 0.01| <0.01] <0.01| <0.01| <0.01| <0.01] <0.01| <0.01| 0.01) <0.01| <0.01| <0.01
ARV EZDLEEY 35 1.0 mg/LLLF <0.1 €0.1 <0.1 0 3 - - - - <0.1 - - - - - - - - - - -] <0.1 - - - - - - - - - - -| <0.1 - - - - - -
FrUDLRUEZDEEY 36 200 mg/LLLF 20 16 18 3 3 - - - - 19 - - - - - - - - - - - 20 - - - - - - - - - - - 16 - - - - - - -
RUAVRUVEDLEEY 37 0.05 mg/LLLF #1 0.007 0.002 0.004| 36| 36| 0.003| 0.003| 0.003| 0.003| 0.003| 0.003| 0.003| 0.003| 0.003| 0.003| 0.003| 0.003)| 0.007| 0.006| 0.004| 0.003| 0.004| 0.006| 0.004]| 0.002| 0.003| 0.004| 0.003| 0.003| 0.004| 0.005| 0.003| 0.004| 0.003| 0.003| 0.003| 0.004| 0.004| 0.003| 0.003| 0.003
EiEAA Y 38 200 mg/LELF 15 11 13 36| 36 15 15 15 14 13 14 12 13 13 14 12 13 13 14 13 12 13 13 12 11 13 13 12 13 12 13 13 12 12 11 1 14 12 12 13 13
YHh, 3 39h%E (BRE) 39 300 mg/LLATF 21 17 20 3 3 - - - - 21 - - - - - - - - - - - 21 - - - - - - - - - - - 17 - - - - - - -
FERREN 40 500 mg/LBLF [ [HE GIE 69 3] 3 - B - el = 5 = 5 = 5 = = = = 5 = = = = = = = = = = - = = = = = = =
B A A~ RE AR 41 0.2 mg/LELF <0.02 <0.02 <0.02] o] 3 - - - -] <0.02 B B B B B B B B - B —[<0.02 - B - B - B - B - B —[<0.02 - B - B - B -
H[ozAzs> 42| 0.00001 mg/LELT 0.000001] _ <0.000001 0000001 2| 3 - - - | o.000001 - - - - - - -] - - - [ .000001 - - - - = = = = = = [ <o.o00001 = = = = = = =
A FNA I RLFL—IL 43| 0.00001 mg/LIAT <0.000001| _ <0.000001| <0.000001| 0] 3 - B B —[[<o_o00001 B B B B B B B B - B —=[[<o_onoo01 - B - B - B - B - B —[<o-00001 - B - - - - -
A o RE AR 4 0.02_mg/LELF <0.002 <0.002 <0.002[ 0] 3 - - - —[<0.002 B B B B B B B B - B —[<0.002 - B - B - B - B - B —[<0.002 - B - B - B -
T/ —LE 5 0.005 mg/LIELT <0.0005 <0.0005 <0.0005| 0| 3 - B B [ <0.0005 B B B B B B B - B [ <0.0005 - B - B - B - B - B [ <0.0005 - - - - - -
AW (2HE#RFE (T0C) OF) | 46 3.0 mg/LLLF # 0.6 0.3 0.5| 36| 36 0.5 0.6 0.5 0.5 0.5 0.5 0.5 0.5 0.5 0.4 0.5 0.5 0.6 0.4 0.4 0.6 0.6 0.5 0.3 0.6 0.4 0.5 0.6 0.6 0.4 0.4 0.4 0.4 0.5 0.4 0.4 0.6 0.6
pHf 47| 5.8 LILE 8.6 LUTF 1.8 1.3 7.6] 36| 36 1.5 1.5 7.4 1.1 1.8 7.4 1.5 1.5 1.4 1.3 1.3 1.8 1.1 1.6 1.1 1.1 1.1 1.1 1.6 1.6 1.6 1.6 1.6 1.5 1.6 1.1 1.6 1.6 1.6 1.6 1.5 1.1 1.6
% 48 BEETLELIE B BRETL BRAEL| 0] 36[mauL|mauL| REuL| RAEL| REEL BAGL| REUL| RESL| RALL| RESL| BALL| RAGL| RALL| KAL) RESL | RAELL| RESL| RREL| RESL| RRGL| RAGL| BREL mesL| BanL| mesL| BasL| ®ResL| BREL mHGL| BRuL| BALL | BREL] BEGL
25 49 EETLELIE B BRTL BERAEL| 0] 36[mauL|mauL| REuL| RAEL| REEL BAGL| REUL| RESL| RALL| RESL| BALL| REGL| RALL| KAL) RAGL | RAELL| RESL| RREL| RESL| RRGL| RASL| BREL mesL| BanL| mesL| BasL| ®esL| BREL mHGL| BRuL| BALL| BREL] BEGL
BE 50 5 EUT # 0.6 €0.5] 0.5 8| 36| <0.5| <0.5| <0.5| <0.5| <0.5 <0.5] <0.5| <0.5| <0.5| <0.5 0.6] <0.5 0.5 0.6] <0.5] <0.5| <0.5| <0.5| <0.5| <0.5| <0.5 0.6 <0.5] <0.5| <0.5| <0.5| <0.5| <0.5 0.6] <0.5| <0.5 0.5 0.6
AE 51 2 EUT <0.1 €0.1 <0.1 0] 36] <0.1] <0.1] <0.1] <0.1f <0.1 <0.1] <0.1] <0.1] <0.1f <0.1] <0.1] <0.1] <0.1] <0.1] <0.1] <0.1] <0.1] <0.1] <0.1] <0.1] <0.1] <0.1 €0.1] <0.1] <0.1] <0.1] <0.1] <0.1 <0.1] €0.1] <0.1] <0.1] <0.1
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4 wERE %0 BmE | RE@ | FM@E | |®| 1A | 28 |98 | 48 | 58 | 6A | 1A |8 | 98 | 10A | 1A | 12A | 1A | 28 (A | 48 |58 | 6A | 1A | 88 | 98 | 10A | 1A | 128 | 1A | 28 |38 | 48 | 5A [ 6A | 18 | 88 | 9B | 108 | 11A | 128
—AgE 1 100 AT * 89 02 30| 2| 3 - = = 89 - - - - - - - - - - 2 - - - - - - - - - - = 0 = = = = = =
Xi5te 2 TR o o O] o[ o | T o T Ol A el T el o ol o e - o d e o o - o - o
HRSHLRUZOEED 3 0,003 mg/LLLT <0.0003 <0.0003 20.0003] 0] 3 = 5 ~[<0. 0003 B - - - - = = = = “[ow0 = - - - - = = = = = = R0 = = . - - =
KBRUEZDIEEN 4 0.0005 mg/LELTF <0. 00005 <0.00005 <0.00005| 0O 3 - - | 000005 = - - - - - - - - — [ <0. 00005 - - - - - - - - - - ~ ] <0. 00005 = - - = = =
€L RUZOEAY 5 0.01 me/LELT <0.001 <0.001 0001 0] 3 o] -[<o.00i T 1 1 T 1 1 1 1 |« I S S S e S I B K Y B e B
BRUEOILEN 6 0.01 me/LELT <0.001 <0.001 0001 0] 3 o] -[<.00i T 1 1 1 1 1 1 1 [« T o o o o O o o O <o Y B e B
ERRUZDIEEN 7 0.01 mg/LLLF * 0.008 | 3 0.007 | 3 0.007| 12| 12 0.007 - -| 0.007 -1 0.007 - -| 0.007 - -1 0.007 - -| 0.008 - -1 0.007 = -1 0.007 = -] 0.007 = -1 0.007 = -1 0.008 = -1 0.007
Al 5 0Ll B 8 0.02 mg/LELT 0.002 <0.002 0001 1] 3 | -[<0.008 S S S S S S S S o s S S S S S I o I I S
GRBEER 9 0.04 me/LELT <0.004 <0.004 0004 0] 3 | -[<0.004 S S S S S S S S S o S s s S S I o I I
STAEMA AV RGIELS T 10 0.01 mg/LELF <0.001 <0.001 <0.001 0] 38 - - -[ <0.001 - - - - - - - - - - <0. 001 - - - - - - - - - = ~[<0.001 - - - = = =
WEEERRUERBEER | 11 10 mg/LBLT .1 01 1] o] s T @i T 1 e O I I I e O O I I -

Ty ERUZOIEEY 12 0.8 mg/LLF [+ 0.43] = 0.39] % 0.41] 3] 3 = B [ 0.3 - - - - = = = = - 043 = - = - = = = = = = T o042 = = = - = -
ADERCEOIEAN 3 1.0 ng/LELT .1 01 w1 o] s T i T e O I e I -
14| 0.002 mg/LLLT 20,0002 <0.0002 20.0002] 0] 3 = 5 —[<0.0002 B B - - - - = = = <0002 = - = - - - = = = = =Kol = = = - - -
15 0.05 mg/LBLF <0.005 <0.005 0.005] 0] 3 = = —[<0.005 5 = 5 B - B - - - ~[<0.005 - - - - = = = = = = 120,005 = = = = = =

, LRUNEVICDTTLULRY Lue|  ooameAmT [w 00os|  co.004x 0004 2| 3 S X e L o e et e ) [ !

ol BZEEEY P 7 0.02 mg/LELF <0.001 <0.001 <0001 0] 3 - - [ <0.001 = = = = = = 5 = 5 —[<0.001 = 5 B - - - = - - - ~T<0.001 = = = = = =
FF5s00IF0> 18 0.01 mg/LELT <0001 <0001 0.001] 0] 3 = S —[<0. 001 = = = = = = - - - <0, 001 - - - - - - = - - - 20,001 - = - - - =
FysooTIFLy 19 0.01 mg/LELT <0001 <0001 0.001] 0] 3 = S —[<0. 001 = = = = = = - - - <0, 001 - - - - - - = - - - 20,001 - = - - - =
Rty 20 0.01 mg/LELF <0.001 <0.001 <0001 o] 3 - - —[<0.001 = = = = = = = = 5 —[<0.001 = 5 = B - - = - - - 20,001 = = = = = =
ERE 21 0.6 mg/LLTF - - -l o o0 - - - = = - - - - - - - - - - - - = - - - = - - - = = = = - = - =
5 0 OEFEE 22 0.02 mg/LLLF - - - 0 0 - - - - - - - - - - - - - - - - - - - - - - - - - - - - - - - - -

AL VPN 23 0.06 mg/LLLF - - - 0 0 - - - - - - - - - - - - - - - - - - - - - - - - - - - - - - - - -
Y OO 24 0.03 mg/LELF - - - 0 0 - - - - - - - - - - - - - - - - - - - - - - - - - - - - - - - - -

#|oJOoEs0AAEY 25 0.1 mg/LLF - - - 0 0 - - - - - - - - - - - - - - - - - - - - - - - - - - - - - - - - -
SR 26 0.01 mg/LUTF - - -l o o0 - - - = = - - - - - - - - - - - - = - - - = - - - = = = = - = - =
wrUNOXEY 21 0.1 mg/LAF - - - 0 0 - - - - - - - - - - - - - - - - - - - - - - - - - - - - - - - - -

Y Y OO 28 0.03 mg/LLLF - - - 0 0 - - - - - - - - - - - - - - - - - - - - - - - - - - - - - - - - -
JOoEvs/nOoizy 29 0.03 mg/LULTF - - - 0 0 - - - - - - - - - - - - - - - - - - - - - - - - - - - - - - - - -
JOERILL 30 0.09 mg/LELF - - - 0 0 - - - - - - - - - - - - - - - - - - - - - - - - - - - - - - - - -
HRLLTLTEFR 31 0.08 mg/LLLF - - - 0 0 - - - - - - - - - - - - - - - - - - - - - - - - - - - - - - - - -
FRRVEDILED 32 1.0 mg/LEIT 0.1 0.1 01| o] 3 - - - <01 - - - - - - - - - [ <01 - - - - - - - - - [ <01 = = = = = -

5 |7V S =0 LEUEDKED 33 0.2 ng/LLLF <0.02 ©.02 ©.02[ 0] 3 I [0 S I ) I ) I I 0 (e e I ) I I ) O X ) I I I I

T BRUZOLEY 34 0.3 mg/LLLTF * 0.06 = 0.04 | 0.05| 12| 12 0.04 - -| 0.05 -| 0.05 - -| 0.05 - -| 0.05 - -| 0.06 - -| 0.04 = -] 0.05 = -| 0.05 = -] 0.05 = -| 0.04 = -] 0.05
BRUZDIEEH 35 7.0 mg/LELT Q01 0.1 0.1 o] 3 = = [ <01 = = = = = = = - = T <0.1 - = - = = = = = = = 0.1 = = = = = =
FrUDLRUZDLEY 36 200 mg/LLLF #2 58] =2 49 | =2 53 3 3 - - - 52 - - - - - - - - - - 58 - - - - - - — - - = - 49 - = - - - -
RUAVRUEDLEEY 37 0.05 mg/LLLF #3 0.068 | 3 0.050 | #3 0.058| 12| 12 0.053 - -| 0.058 -| 0.058 - -| 0.055 - -| 0.057 - —| 0.068 - -| 0.057 - - | 0.062 - -| 0.059 - - | 0.060 - -| 0.050 - o059
EiEAA Y 38 200 mg/LELF # 33| = 31| = 32 3 3 - - - 33 - - - - - - - - - - 32 - - - - - - — - - = - 31 - = - - - -

W9k, 39 390E (BE) 39 300 mg/LLATF 26 22 24| 3] 3 - = = 23 - - - - B - B - - - 26 - — - - - - = - = = = 22 - - - - = =
ERBEN 40 500 mg/LEIF | 180 =2 70| =2 77 3] 3 = = 170 - - - - - = - = - T 180 = - = = = = = = = = 80 - = - = - =
B4 REE A a1 0.2 ng/LBLF <0.02 <0.02 002 o] 3 = 5 —[<0.02 = = = = = = = = = ~[<0.02 = = = = = - = - = - ~[<0.02 = = = = = = =

Aloz4z3y 42] 0.00001 mg/LEAF <0. 000001 <0. 000001 <0. 000001 0 3 - - — | <0. 000001 - - - - - - - - - — [ <o. 000001 - - - - - - — - - - 0. 000001 - = - = - = -
22 A FNAVRLFA—IL 43] 0.00001 mg/LEAF <0. 000001 <0. 000001 <0. 000001 0 3 - - - | 0. 000001 - - - - - - - - - — [ <o. 000001 - - - - - - - - - - "~ <o. 000001 - - - - - = -
FA A REEEA 44 0.02 mg/LBLF <0002 <0.002 0.002] 0] 3 = = —[<0.002 = = = = = = = = = ~1<0.002 - = - = - = = = = = 120,002 = = = = = = =
T/ —LE 45 0005 mg/LILT <0.0005 <0.0005 0.0005] 0] 3 = = —[<0.0005 = = = = = = = = = ~T<0. 0005 - = - = = = = = = = 20,0005 = = = = = = =
Amh (SABRE (100 OF) | 46 3.0 ng/LBLT 0.3 0.3 03] 0] 3 = = [ <03 = = = - - E - = - <03 = = = = = = = = = = <03 = = = = - = -
oHfE @ SEHESOHT 79 77 T8 3] 3 T [ e S I | | 1 | I T | [ /A | |
Tk 48 BEETLWIE - - -1 o] o - - - - - - - - - = - - - - - - - - - - - _ - - - - - - - - - - - -
&% w| EECTBLCE WAGL| WEGL| ®EGL| 0] 3 T [mmec ) ) = e ) s s T ) ) s
BE 50 5 BT 0.5 0.5 05 0] 3 = = T <05 = = = = = = - = - T <05 = = = = = = = = = = T <05 = = = = = = =
HE 51 7 BUT 0.1 0.1 0.1] 0] 3 = = T <0.1 = - = - = = - - - 0.1 = = = = = = = = = = <01 = = = = = = =
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